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paper.
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General Instructions :
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All questions are compulsory.

There are four types of questions —~
Multiple choice type, Very short
answer type, Short answer type
and Long answer type.
Instructions have been given
before each type of questions for

its answer.

Instruction : Question Nos. 1 and 2 are

76830

Multiple choice type.
Four alternative answers are
given in each question. Select the
correct alternatives out of them
and write them serially in your

answer-book.

®OF

[

SRR

A



1. &)
o)
m
)
1. a)
76830

3 823(BE)
yaterer weftm e &
i) gt Afa s 4
ii) e gig 4@
iii) emyfrRIERT @
iv) T 9 99 1
4 #fex U w1 I 220 To & A TH
ot gy T 19 =7 & 2

i) 50 %o iij)y 35 %o
iii) . 44 Be iv) 40%o| 1
I o} HeTYT STEATIHAT T & 2

i) e i) mEd

i) @ iv) 30 @ @t )
i) ERH I

ii)  o® o 5Er FEEa

iil) USSR % 9w @

iv) 39 9+ T | 1
Environment is polluted by

1}  Social customs

i) Population growth

iii) Modernisation

iv) Al of these, 1
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Cost of S litres of milk is Rs. 220,
What will be the cost of one litre of

milk ?

i) Rs. S50 ii) Rs. 35

ili) Rs. 44 iv)] Rs.40. 1
Basic needs of budget is

iy food ii) house

iii} clothes iv) all of these. ]

The best measure for Keeping

savings safe is

i} keeping in home

iij depositing in bank

iiij keeping with neighbours
iv) none of these.
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M) WIS W frmrer ST ¢ ¢) Marking on fabric is done by
j dfaard i) Pencil
- 3 it}  French chalk
i qTeh
ii) iii) Milton chalk
iii) fireeT = @ iv) White chalk. ,
iv) q¥c as 9 | 1 d) Source of energy in food is
i 1)  carbohydrate
) W § FHt o e a9 € N .
11}  minerals
i) HEREgE Qi) ST ST iii) protein
iii) WM iv) faefa= 1 iv) vitamin. 1
fdwr : uv7 9= 3 R 4 A &g g
2. a) Symptom of sprain is TEE WU & ITW HuEFAT 25 v &
i} pain fafaw |

Instruction : Question Nos. 3 and 4 are Very
short answer type. Answer each

ii) stress in muscles

1i) swelling
part within 25 words.

iv) all of these. 1 3. &) ¢ frd FEd € ?

@ TIAFT IR L ?

M oo Wi & e & 9w fefan
u) dfaw & wer fafaw |

) 5 ] her ot 0 & AW fafan |
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b) Washing clothes at home saves
i)  money i) time

iii) clothes iv) all of these. 1
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3. a) Whatis budget? 2
b) What are the aims of saving ? 2

c) Give the names of sources of water. 2

d) Write the symptoms of dysentery. 2

e) Name some water-borne discases, 2

2

4 &) mn@mﬁ;%ﬁﬂ?ﬁmk?
=) faons fre =41 amavas ¢ ?

b

m e mel ® Swwfen fafEn | 2
w) wrataes fafeea fed sea & 2 2
F) ¥ A & 3 wafs IwEr WiEe o 2
4. a) Why is water useful for human? 2
b) Why is sewing kit necessary ? 2

c)  Write the utility of sewing machine.
2
d) What is first-aid ? 2
e) Write any two first-aids given in case
of fracture. 2
fadwr - T HEN S W 7 % oY I & | W
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Instruction : Question Nos. § to 7
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are Shory
answer type. Answer each part in

maximum 30 words.
¥ IR g% B ¥ IR ¥ )
qar
TH 7" H FA AER 2000 ¥, s
50% Y9 3R 25% fort ¥ 1 forat aly

4

WﬁF@TWI 4

it a9 & 9’ @Y SaRU | 4
AT

15 4 ¥ T 2,625 Fo &, Al 10

H1 o FaART | 4

Write the utility of bank passbook. 4
OR

Total population of a village is 2000,
in which 50% are men, 25% are
women. Calculate the numbers of

men and women. 4
Write four benefits of family budget.
4
OR

Cost of 15 chairs are Rs. 2,625.
What will be the cost of 10 chairs ? 4
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faemd fae ® T@arel 9 aEqs & -

Ul 39eh1 39N fafan | 4
rgan

Uh UAEle & onEs 90 At @, HiEZ

80 ¥Hl ¥, W 65 WMl & d UdHIE H

fererr sagt & 2 4

Ao W @ @ fafrdi fefaa | 4
HAGT

HARET W7 & WA AR g9 & IAE

rf@e 4

Write the names and uses of any

four items kept in sewing kit. 4
OR

How much cloth i1s needed for a

petticoat if its length is 90 cm, seat

80 cm, waist 65 cm ? 4
Explain two methods of serving food.
4
OR
Write prevention and causes of
Malaria. 4
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V. ‘1‘) 'ﬂlﬂ "l} "‘h{l Jeh 1 h ‘ﬂ\]‘l.{ ]}.n *ni-"" ? .

argan
e aY @l IEH ( a7y ) 919 ) fhﬁ;
featan 1 o Bea O o e onen &

mafas 3R Fhm wwa e w;;

W it p
Haar

e e fd wed § 2w v

fefaa | 2 +2

Which type of food should be Riven

to a patient ? 4
OR

Write the method to prepare whey-
water. Whey water is given in which
disease ?
Differentiate between natural and
artificial respiration. 4
OR

What is temperature chart ? Write
the merits of temperature chart.

2+ 2
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R ;g sy 8 @ 10 A A 304 # | ”1"_“" Write short notes on the following ;
Wwn g8 9 9 H famed farr 13 LA i) Hot fomentation
s i um @ famen @1 3R e ‘?' ! ii) Uses of Ice-cap. 343
T wyd @ 3 emen 100 T H 9. ¥ w1 HWU, U @ I F Iy
fefia | fefaw | 2+ 242
Instruction: Ql::::lim: Nus-;'je t:J lON:;'CgL::: IO I
arns: cr . 5110 . >
9 cuntui::ﬂtcrnativcs from which RERG S ¢ ? e 3N
F HA A FAE ? 2+4

only one alternative has to be
9. Describe the causes, symptoms and

answered. Answer cach question
preventive measures of dengue. 2 +2 +2

in about 100 words.

8. %%3 wawd fea ¥ frw weR weEw € 2 OR
gt &1 v faw g AT | 2+ 2 + 2 What is meant by air pollution ? How is
Jaan environment polluted by vehicle and .
ﬁwﬁqﬁmwwﬁnﬁ&mﬂﬁ%ﬁm . factories ? 2+4
i)y TH S 10, HeE F TR Y ravEs a9 I ¥ 7
i) Tk F 2 w1 w=E@h 343 IR T ATE ? 3+3
B. How do lungs help in respiration ? 10. What are the important elcmenf+1f

Explain the structure of lungs with food ? What are its benefits ?

diagram. 247249
OR 823(BE) - 1,25,000
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